GENERAL SCIENCE /MOST IMPORTANT QUESTIONS — HUMAN EYE/ ATAG

(Human Eye)
Human eye basically consists of a “convex lens”. This lens forms real and inverted image of an object on retina.
AT 31T YT §0 ‘I a7 F 1 €t B w8 i Yo wr st ag &t “arafas 31k 3ot ufd” s 81
»  There are two kinds of vision cells in the retina. They are called rods and cones on account of their peculiar

shape. Rods decides the intensity of light where as cones distinguish colour of light.
AT # & UFER F gfe SIS Bt §1 32 B8 3R G ITF 360 SMHR & HRUT H&T AT 81 B USTRT HY figeT &7 Fofa
FRAT & STET Qi UebIT & T Y Ve B

> Least distance of distinct vision is 25 cm.

e gfee &Y gaad g2 25cm BT Bl
parts

1. Cornea - Transparent bulge through which light enters.
SIfFaT - URERfT IR S ATerd I Tt Tder ERe Bl
2. Iris — Dark muscular diaphragm that controls the size of pupil.
3T - 37y Ui ST ST YAet & SMHR & FfAd axar @
3.Pupil - Requlates the amount of light entering the eye.
eofl- 31iRa & YL R dTeY UHTRT o T1AT bt A e &1
4.Eye lens - Forms and inverted and real image of object on retina
3T BT ¥ - T W I FF el 3k Ie¢ ok arafas fRmaara g
5. Retina - Membrane having light-sensitive cells which generates electrical signals.
e - FRreehuerer-HaeTefia S Radt 8, St fagd Tdal &) 39 = 8l
6.0ptic nerves - Transfer signals to brain for processing.
Siiftess dfAsT —ar @ & fow wRass o fiue wmiaid aar @
7.Power of Accomodation - Ability of the eye lens to adjust its focal length of focus on nearby and distant objects.
TS & 2l - UrT 3R R Y I3 W e Higd TR Y 310 Hieved dTs B T TR & faw 37 i $i e

Defects of human eye and the remedies:

1. Myopia or short sightedness: A person suffering from myopia can see the near objects clearly while far objects are not
clear.

Causes:

1. Elongation of eye ball along the axis.

2. Shortening of focal length of eye lens.

3. Over stretching of ciliary muscles beyond the elastic limit.

Remedy: Diverging lens is used.

1. fAse gfedy (Myopia): 5 A & URAd oufeh ToIdiad! a¥g 1 2@ AT & g I I¥g BT 16T 39 UTelT B
BRUT :1. W BT MATS &¢ ST &

2. O T HHT g ge ST 8l

3. I Y &I 9 STl &

HRUT- G T Tafara AT W T e YT FH3m 5 ST 81

1 1 fAaro : fRde gfe S & FaRT & fAv Iughhied gt & add @ ST JanT f5aT Jrar 81 |

2. Hyperopia or hypermetropia or longsightedness : A person suffering from
hypermetropia can see the distant objects clearly but not the near objects.

Causes: 1. Shortening of eye ball.along the axis.
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2. Increase in the focal length of eye lens.
3. Stiffening of ciliary muscles.

Remedy: A converging lens is sued.

2. W gfe AW (Hypermetropia): 31 T & UfAd fthd! ¥ $F ag fe@ans usd 8, Rae & axg famars 78 usdh 81 Fror

1. =g & MATE H9 & A1t 2

2. O T HHT g 9 ST

3. - &I &HaT U¢ ST 8

= A H e H axg o1 wfafera Year & NS sar 81 I &1 fAarur : 51 9 & fRarur & fAv Suges Bled g & Iad o &7 udiT
forar ST 21

3. Presbyopia : This defect is generally found in elderly person. Due to stiffening of ciliary muscles, eye looses much of its
accommodating power. As a result distinct as well as nearby objects can not be seen.

For its remedy two separate lens or a bifocal lens is used.

3. SRT g% €IV (Presbyopia): JETERAT F HRUT 31 ST AHRY &HAT U AT & AT FHIG 81 AT 8, FoRAD SROT Sfth 7 al gl 9
3R 7 fawe H & axg @ UraT 1 I 7 FAaR : 59 I F FERe & fAv Teed @ (SVaTdd @) U7 SEmed @ &7 IUTHT T
ST &1

4. Astigmatism: This defect arises due to difference in the radius of curvature of cornea in the different planes. As a result

point in one plane of an object appear in focus while those

4. gfRe dum =7 srfa=gaar (Astigmatism): s 37 &fdsr faem & & St & urar &, g e e & €Y &a urar &1 55 R &g
YATHR @ (cylindrical lens) TaT fa5ar Srar &1

COLOUR BLINDNESS:

Color blindness is not a form of blindness at all, but a deficiency in the way you see color. If you are colorblind, you have
difficulty distinguishing certain colors, such red and green.

FoR AT YT FT TH FY 781 &, AfhT TTI@ & 1 I 31T FeReaTes §, dF MU $8 T I -t SR R T A = o
HISATE gl 2l

FUNCTION OF EYE PART'’S

. Light controlled and regulates the amount of light entering the eye by adjusting the size of pupil-iris
. Reflection of light by —cornea and lens

. Image is formed in -Retina

. Eye’scolour is the colour of Iris

. Cell which is sensitive to dim light -Rod shaped cell

. Cell which are sensitive to bright light cell- cone type cell

. Cell cause the sensatation of colour of object in our eyes-cone type cell

0 N o0 U1 A W N

. cone don’t function in dim light

Questions -
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Light enters the eye from _______. F offE o T3 T B
(a) Ciliary Muscle / faferst miaaeft

(b) Cornea / &if<ar

(c) Iris / MR

(d) Lens / o

RRB NTPC 03.04.2021 (Shift-11) Stage Ist

Short sightedness is also called as______ L et er ____ ofY FgT STt 2
(a) Hypermetropia / ddgfe
(b) Myopia / fi&e gfe
(c) Ametropia / TTAHTT
(d) Presbiopia / SaaTgIfOaT
RRB NTPC 08.04.2021 (Shift-1l) Stage Ist

For a person with hypermetropia or far- sightedness, the near point, is ____ farther away from the normal near point. /

BERACITOTT T Refefdr aret aafes & fow, e g, s e igd ____ sfs R 2
(a)
(b)
(c
(

)
d) 24 cm

27 cm
26 cm
25cm

RRB NTPC 07.03.2021 (Shift-1) Stage Ist

The .cccccuee. oval spot in the human eye is the area of best vision / A M@ H ............ STSTER I AGTH Gite ST & &
(a) yellow / dter
(b) white / Tthe
(c) green / &1
(d) blue / e
RRB NTPC 16.02.2021 (Shift-1l) Stage Ist

Where is the image of an object formed in the eye of a person suffering from long- sightedness?/ €& gfte v & ff3a arfts
& aria # Tt g &1 ufafers waf sAar 872

(a) on the retina /YT ®

(b) on the cornea / ®IfHaT ™

(c) behind the retina /T & d&

(d) before the retina / 3T & ugar

RRB Group-D 11-10-2018 (Shift-1)

........ lenses are used by people suffering from hypermetropia. /........ @ HT ITANT FERUITAT & TS Al GRT fHaT SITelT B
concave / 3qdd
cylindrical / SeHTHR
) convex / 3del
d) planar / defig
RRB Group-D 05-10-2018 (Shift-Ill)

Lenses with two focal lengths are used by persons suffering from .......... / Y BIhe ¢IaTS dTel oI’ T IULNT ........... q difea
ufehal gRT fosaT STTelm &1

(a) Myopia and hypermetropia/ TTaifoaT 3R gewRaACIftaT

(b) Myopia or hypermetropia / HTfOaT AT gTEWRASHTAT
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(c) Myopia but not hypermetropia / ATafOaT wfd TewRAC AT &l
(d) Hypermetropia but not myopia / BTSWRACHAAT @i Ao &l
RRB Group-D 18-09-2018 (Shift-1)
Questions- MOST IMPORTANT 60 MCQ
1. In which part of body is cornea and retina found?
Fiffar ok gt gea ek & vt st # arar Srar 87
(a) Ear / &1
(b) Eye / ==
(c) Palm / umH
(d) Nose / A1

2.Rod and cone are found:
AT 3R i UTT ST -
(a) Heart / g

(b) Lungs / %3

(c) Eye /==

(d) Nose / A1

3. Which cells present in the retina are sensitive to normal and bright light and give colour sensation?
e & Hige B9 W SIS I 3R A Ao & ufe Tdeefier @Y § ofk @ wdear & €2

(a) Bright cells / Iad SIfASTT

(b) Rods or rod-shaped cells / TATHT TT P F HR I HIASTY

(c) Cones and cone-shaped cells / ig 3R 21 & 3SR I HIASTY

(d) Blind cells / 3t HIfAHTT

4. The amount of light entering the eye is controlled by:
3TRG & YA A ITel U1 &Y |71 frgds grT Adfaa @t @:
(a) Pupil/gdett

(b) Cornea /aifar

(c) Retina /gfw geat

(d) Sclera /Faucer

5. Which of the following is known as the camera of eye?
Frofafad # & 5 a1 o1 ST HeT ST 87
a) Cornea/ &ifar

b) Iris/ amefe
c) Pupil/ gaet
d) Ciliary muscles/ faferert wiwafrat

6. When you enter a dark room, what does the pupil do?
S 31T Ueh R S & YA A &, dY Yool T el 872
a) Get larger/dsT g1

b) Get smaller/®Yer g1
c) Remain same/d& AT &
d) None of these/ 378 ¥ &I &I

7. What is the function of the pupil?
ool T T 1 872
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a) Sends messages picked up by the retina to the brain/ AT gRT I8V 7T Heell & ARASH # FordT &

b) The hole that controls the different amounts of light/ 3 f&g St Ueer &1 fafvrer ATt T T aeer &

c) The colored part of the eye that controls the size of the pupil/ 3TRa &T T AT ST GAeT & MHR T U Fear &
d) Transparent jelly like fluid that fills the eye and refracts light/ TR Siet ST TRt TaTe ST 3TRT ST ¥R & 3R Tprer

FT sTuafad exar &

8. Which of these is associated with colour vision?
=T A P T g @ Wi &7

(a) Optic disc / Jiftes

(b) Rods / eTciTehT

(c) Cones / 2%

(d) Iris / aRaTfeeT

________ AT T HHT I B JAETHIGIT T T 3TRT & Heg T &
Retina / gf@ ged
Entire eye ball / g 31ia
) Lens / &i\@
) Ciliary body / fafetary STt

9. helps the eye to adjust the focal length of the lens.

10. Name the structure of the eye that acts to refract light rays and focus on the retina?

TR DT IT TR BT ATH FATST ST U127 FBR0M ST Sraafeid F oiR 3T W&o S o &7 o el 87
(a) Cornea / sifar

(b) Pupil / gaeit

(c) Lens / &

(d) Iris /aftarfeier

11. The eye lens is a

EERE

A. Biconvex lens/ fgsaa &g
B. Concave lens/ 3@dd «id

C. Biconcave lens/ fgarada &
D. Convex lens/ 3qd &

12. What is the iris
TS T 82
a) The colored part of the eye that controls the size of the pupil/ 3TRa &T T AT ST GAe! & MHR I T Far &
b) Transparent jellylike fluid that fills the eye and refracts light/ TRE=fT St ST TR TaTe it 3TRE BT WRaT & 3R yorr
@ Sruafid o &
c) Sends messages picked up by the retina to the brain/ AT gRT I8V 7T HeRll & ARASH # FordT &
d) Hole passes different amounts of light/ g faf¥e AT & UHTeT F oRdT &

13. What is the outer tough layer of the eye?

371G P IE T R FAT 87
a) Lens/dd
b) Iris/ 3MERT
c)  Pupil/ gaeit
d) Sclera/ fduea
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14. What is the anterior portion of the sclera known as?
AU & YTl YT Y T HET ST 87

a) Cornea/ Sif<ar

b) Choroid/ ®Rigs

c) Retina/ 3fesr

d) Iris/ 3mefa

The sclera is the outermost layer out of the three layers that surround the eyeball. The sclera is made up of dense
connective tissue. The anterior portion of the sclera known as the cornea.

FATCT AT BT ERA ATei! A4 WRell § T T ST R &1 FAUCe o HATSH S I ST 81T 8| FTUCH & YaDTd HNT BT ST P
wG F ST ST 2

15. What is the middle layer of the eye known as?
311E Y 7T TR T AT Hed &7

a) Retina/ Xfer

b) Choroid/ ®R1as

c) Cornea/ &if<ar

d) Sclera/ TRt

The eyeball is surrounded by three layers, the outermost sclera, the middle choroid and the innermost retina. The choroid
is rich in blood vessels to provide nourishment to the eye and is bluish.

AT 4 WRet A FoRT €rar &, T8 1edt Aaued, Teg IAd iR Siavam AT FRI9E 7 arfeadrai T W grar & S 37t S giyor
T&T el & 3R et 7 &7 ghefm 2|

16. The iris is a continuation of which of these structures?
SERT 57 TREATS & A fHasr Ue fAReRar 872

a) Retina/ Xfear

b) Cornea/ &iffar

c) Ciliary body/ fafetar aist

d) Sclera/ TheRT

The middle layer of the eye is known as the choroid layer. The choroid id thicker in the anterior portion of the eye and
forms the ciliary body. The ciliary body continues forward to form the iris.

TR T 7T R BT SRITS W & ¥ H ST SATAT 8| PRISS STEST TR & Ydaa! (6T H HIST el & 3R RAferardt aist aart 81 s
T & e faferardt S7st o &t 21

17. The area of the retina where the vision is highest is-
T &7 aF & et g TR A el -

(a) Vitreous body /&=TT @

(b) Blind spot / 3fg fdg

(c) Fovea / wifaar

(d) Choroid / T Ucd

18. The persistence of vision for human eye is-
T o & farw afte & ggar -

A. 1/10th of a sec/ e A T 1/10 ai

B. 1/16th of a sec/ Ud ddhg T 1/16aT WIT
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C. 1/6th of a sec/ & T3 &7 1/6 af
D. 1/18th of a sec/ Ud Uhs &7 1/18d7 UNT

19. What is the aqueous humor?
STety g T 82
a) Fibers that hold the lens in place/ T SiT ¥ &I ST 1§ TR ¥@d &
b)  Thin structure that controls pupil/ Tae FREHT ST Goei! BT AT ST &
c) Clear, watery fluid/ TT%, OTt ST &Rl TeTef
d) Helps refract light to the retina/ XfeaT # U121 &1 SUafdid o # Hag el &

20. Function of the optic nerve is
Jiiftes dfAeT o1 o &

a) Transfer the signals to brain/ #Rash # Hbel BT AR DY
) Image formation/ ®fd famfor

c) Sensation of vision/ gfte & argyfa
d) Controls the light entering the human eye/ ATa 31T # TALT T ATt UHTRT BT U T &

(=)

21. Name the spot where no image is formed on the retina
I T BT AT TATSU STET ST R PIg TSR 81 ST 8
a) Green spot/ ®rw&ic
) Blind spot/ 3Rqw< wWic
c) Black hole/ sid &let
) Optic spot/ 3ifftess Wic

22. How many layers does the wall of the eyeball have?

A T Ry T fhaT wel gieft 87

The wall of the eyeball has three layers. The outermost layer is known as the sclera. The middle layer is known as the
choroid and it is bluish in colour. The innermost layer is known as the retina.

Foriias S AT & 69 w=ed €1t &1 7o 9188 W S Yaued S ¥ F ST 16T 81 T R B SRIUS F T F FHT 707 & 3R 78 a7 F
T T BT g7 & STRAH W &Y (ST & T H FHT ST 8

23. What is the sclera composed of?
Faued fHad a7 graT 82

a) Mucoid connective tissue/ @IS TTTSI Hdd
b) Loose connective tissue/ faReT TGS FHdd

c) Dense connective tissue/ O TSI Sdd

d) Pigmented connective tissue/ Guic JTTSl Had

The eyeball is surrounded by three layers. The sclera is the outermost opaque and fibrous layer that surrounds the eye. It
is made up of dense connective tissue and provides protection and form.

FoIA A Wt & feRT g3 | Adue Tad aTedt sTureeff iR YR e & ST 31Ra T O §U & TE T IS FHdd T a7 & 37X JRemw
3R ¥ UEH & 8l
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24. How many layers of neural cells does the retina possess?

ST & U AAAPT DIRIBTS B et w=el BIelt 872

a)3

b) 2

C) 4

d)1

The retina is the innermost layer of the eyeball. It possesses three layers of neural cells which help in vision. These three
layers are the ganglion cells, the bipolar cells and the photoreceptor cells.

AT AT Bl TS WA TR &1 AT HIRABTSAT BT oI TRl 8ell & i gfte H Heg el 6| T o IRl & ATS U SIS,
eyt FIAPTY 3R Bl AP

25. The function of the lens in our eyes is to-

B 3l § @ T o &-

(a) Cover the eyes / 3TRal & Gl

(b) Send message of images to the brain. / ARd% &I sfdal &1 Haer A
(c) Change the focal distance of the eye. / 3TRa &I BIdd g3l g&d |

(d) Protects eyes from injury / 37! T 9l ¥ F9TdT &

26. Which of the following is not a part of human eye?

Fgfafad § O 19 amg 3mike &7 e 787 €72

a) Optic nerve/ Jffted =4

b) Blind Spot/ &1$s Fic

) Vitreous Humour/ faez g
d) Ciliary lens/ faferart i

27. Which of the following is an eye disorder?
el # 9 oF 1@ 37 Jer 87

(a) Sinus / AT

(b) Arthritis / TifaaT

(c) Jaundice / diferar

(d) Myopia / wraifaar

28. On which of the following principle does the human eye work?
Mg i Fafafad & 3 fva Rt w $rf et 872

(a) Scattering of light / U121 &7 UehTof

(b) Dispersion of light / T&TeT &T thara

(c) Refraction of light / UT2T &T 3Ta@a—

(d) Reflection of light / weTeT T Ufafds

29. What is called feature of adaptation of human eyes to see near and distant objects?
e 3R R & axgail & T & v T 31iat & /g & AT a1 HEar 872

(a) Myopia / f&e gfe

(b) Accommodation / 3rdr™T

(c) Veteren / 9

(d) Reform / gar

30. Least distance of distinct vision for normal eye is

T 7 & AT e gfe & iam it 8-
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31. When a person can see only far objects, the condition is called?
Jq FIE Tt Fad R B a3l BT &) &\ FHaT 8, dl A Fgerrt &2

(a) Hypermetropia / €reigfe

(b) Astigmatism / gfteedwwr

(c) Myopia / fee gfe <y

(d) Retinopathy / fe=rtef

Hyperopia

Normal vision Focal plane

Hyperopia s Hyperopia corrected i

32. When a person can see only nearby objects, the condition is called?

JE FIE fth Fad aTd $H X3 € 9 AHdT 8, A7 D FEardr 82

(a) Hypermetropia / Seigfte
(b) Astigmatism / gftedwwr
(c) Myopia / fede gfte dy
(d) Retinopathy / fe=rtef
RRB Group-D 04-10-2018 (Shift-I1)
RRB NTPC 11.04.2016 (Shift-111) Stage ISt
long
Myopia (nearsightedness) Normal eye
= BN
focal point == lens focal point 7 N . lens

cornea cornea

retina sclera retina sclera

Q33. Function of Cone shaped cells in our eyes is-/ Y 311G! # 21F & MR H HIAFT3 FT F1 8-
a) Respond to brightness of light / T&TeT ST 9He& W Ufafesar AT
b) Helps to identify the colours/ T & U&= & H Hag T &
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Which of the following statement is true?

a) Only1
Only 2

)
)

c¢) Bothiland?2
)

=

(=¥

Neither 1 and 2

Q34. Which of the following statement is not true?/ FafaRad # & S 1 Fu ¥ 781 872
a) Human eye works on the refraction of light./ 3fte Tea Ufe®T ST # Aag XdT &
) Eye lens is concave lens/ 37 & 31dct & &
c) Retina helps in forming the image / gft¢ Yew Ufaey a9 # Heg F=aT &
) Rod shaped cells is to respond to the brightness of light./ IS & 3THR HT FIASTTC TSI HF TS BT T ehaT &t &l

Q35. The power of accommodation of a normal eye that enables to see clearly an object is
37T & THS GHAT S W FT T CH g Hr e Hqem e, ____________ 2l
a) 1cm to infinity /1 94t & aid d®
b) 20 cm to infinity /20 TH & 3+d dF
¢) 25 cm to infinity /25 IHT I 3T 9B
d) 10 cm to infinity /10 ¥ & aFd

Q36. Myopia is caused due to/ FFegie ufdas FRUTEATE - -
1. High converging power of lens/ o &1 I=T SIfAFROT 21feh
2. Eye ball being too long / 3@ & Tiel & §gd @aT 84T W
3. Low converging power of lens/ @& & &H SfAIRUT 21t
Which of the following statement is true?/ afafRed & & SIF 71 FI7 T 87

a) Only1
b) 2and3only
c) 1land?2only
d) Only2

Q37.Which lens can be used to correct the cataract ?/ Hifaarae & S &= & AT foa &g o1 ST S ST Jodr &2
a) Concave / 3fadd
b) Convex/ 3dal

c) Bifocal / fgrfaa
d) Cannot be corrected by any type of lens / f& ft U6R & @@ gRT WET &l foar ST wehar &

38. In which of these structures are the eyes located?/ &8 ¥ farg TRaaT # 31 fd &2
a) Glenoid cavity/ Toi1gs T&T

b) Acetabulum/ TfleTged

c) Pores/ &g

d) Orbits/ &&

The eyes are located in two sockets present in the skull known as orbits. The orbits are bony cavities in the front part of
the skull in which the eye and its appendages are accommodated and protected.

3TRE [t 7 Hisg &Y Aidhe # f0d & O a1 & 0 & SH1 SI7eT 81 oReFHT |os) & g & 2 § i e @t € foaw arika sik
ITd I BT FETEoT 3R T fvar Srar 21
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39. Identify the part of the eye.
8. 31T & fexd 1 yg=r|

a) Cornea/ Sif<ar
b) Optic nerve/ 3iiftees dfeT
c) Blind spot/ sTgs wic

d) Fovea/ wifaam

The diagram given is that of an eyeball. The indicated structure lies towards the back of the eye at its posterior pole, on
the innermost layer that surrounds the eyeball. It is identified as the fovea./ fTT TaT 3MTRT =S ST &1 Abfad TR
AT & IRT 3R T STRa? R W, 306 T & ¢d | 3R & Mo 6 3R & &1 96 g™ Har & ¥ F 6 J7eft 21

40. ldentify the part of the eye.

a) Ciliary bodies/ fafaert ardlar
b) Cornea/ &iffar
c) Iris/ 3mefea

d) Lens/ @&

In the given diagram of the eyeball, the indicated structure lies in the anterior part of the eye just above the lens. It is a
continuation of the ciliary bodies and hence, is identified to be the iris.

FAD & U Y 3TRE , Thfad T o & Sl W 31T & YdabTet uTT # T gt 21 ug RAfqert et & v Aawar & ok
AT, STERT DI Tg=H BT STl 8

41. At which of these sites will you find a yellowish pigmented spot?
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42. What is retinal?/ ¥fe=r a7 8?2

a) Aldehyde of opsin/ 3Tt T TfeseTss

b) Isomer of opsin/ AT & STEHMR

c) Aldehyde of vitamin A/ f3eTfd= T &1 Tedierss
d) Acid of riboflavin/ IEETTRATAT T 370t

Retinal is an aldehyde of vitamin A and is a component of the light sensitive photopigments, along with opsin. It is
present in the retina, which is the innermost layer surrounding the eye.

et faerfi v ot uferes & ok S1iftas & aryr-amer usTeT Taeefiia wielftniie & Us s | ug Xear # Hige 8, St oTka &
AU & o i R 2

43. The brain is also the coordinating center of the body:
ARA R T AT Hg T &:

(a) Main / g=1

(b) Vestigial / aRefoae
(c) Secondary / ATenfie
(d) Optional / d&feus

44. Which of these is associated with colour vision?
=T A P AT g @ Wi &7

(a) Optic disc / iftes &

(b) Rods / ettt

(c) Cones / 2%

(d) Iris / aRaTfeeT

45. On which of the following principle does the human eye work?
Mg i Fafafad & 3 e R w $rf et 82

(a) Scattering of light / U121 &7 UehTofT

(b) Dispersion of light / T&TeT &T thara

(c) Refraction of light / UT2T &T 3Ta@a—

(d) Reflection of light / weTeT T Ufafds

___________ TS R-T  §9 21 &, ST 3mant & ured 3R d=iia &= 2
Epithelial / 3udett

Connective / IaISft

Nervous / dfAdr

Muscular / teft

46. tissue is made up of neurons, which receive and transmit impulses.

= 2

d

47. What is called feature of adaptation of human eyes to see near and distant objects?
e 3R R & axgaeil & a7 & v T 1iEt & s/ & AT a1 HEar 872

(a) Myopia / f&e gfe

(b) Accommodation / 3frdrT

(c) Veteren / 9

(d) Reform / gar
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48. The aperature are controlling the light entering in the eye is called:
TR | YA A T U1 Y T 7 a1 TueRk FEerrd &

(a) Blind point / 3w fdg

(b) Iris / afarferesr

(d) Sclerotic Layer / aucat wRd

(c) Pupil /gaett

Middle ear
1

Temporal bone

| Malleus Incus Slapes' Inner ear

(hammer) (anvil) (stirrup) I L !
Semicircular Cochlea
canals

Vestibular nerve
=—x. ___ Cochlear nerve

Round window

Eustachian

’ tube
\ 8

Internal Y, —
carotid )
_ artery ]
Tympanic g
membrane Styloid bone )
(ear drum) Opening to

nasopharynx

49. Which of these structures have a bluish appearance?/ . §7 WRa-131 # ¥ 34 I & ysar Iuf@DT &2/
a) Sclera/ THeRT

b) Cornea/ &iffar

c) Choroid/ ®Rigs

d) Retina/ 3fear

The eyeball is surrounded by three membranes-the outermost sclera, the middle choroid and the innermost retina. The
choroid layer is rich in blood vessels and hence gives a bluish appearance.

AT dF fRfeeral & forT 8-0ed a1ed Aaued, wer ISd 3R sfaRaw XfeaT &1 $RIgs W 776 arfeareit § a9g & ok sufav ug s
TS g8 U it B

50. The ciliary body is a part of which of these structures?
a) Choroid/ ®Rigs

b) Retina/ XfeAr

c) Sclera/ THeRT

)
d) Macula lutea/ Bagar qfear

The eyeball is surrounded by three protective layers. The middle layer is known as the choroid, which is rich in blood
vessels and has a bluish appearance. The ciliary body is a part of the choroid.

AATAD I TREHS WRedt F TERT 53 &1 T R B SRIFS & FT T ST SATAT 2, ST 72b ATfeprai § Tg & 3R 598 U a7 fears aam
g1 RAfdardt a7 oRigs &1 v wr &
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51. Which of these is not a characteristic of the iris?/ 375 & BT STERT / TRATRT HT f3Lwar T&f &7
a) It is opaque/ 7§ 3TaRe2f &

b) It is a part of the sclera/ 7§ FdUed &I U fewam &

¢) It is a continuation of the ciliary bodies/ & ffarart fieml 61 v fReawar &

d) It is pigmented/ TE o1& &

The iris is not a part of the sclera, but a part of the middle layer of the eye, known as the choroid. It is opaque, pigmented
and forms the colored part of the eye. The iris is a continuation of the ciliary bodies

TR Addee ST 7T 78T &, AT 3R HT 7er W &1 ve T €, f9F SR1gs & U T STHT 19T 81 T8 3uReR’ 7, if5a & ik
31k & i R &1 fAmfor oar &1 sl RfAei st &1 v ARaRar g

52. What is the inner layer of the eye known as?
a) Sclera/ THeRT

b) Cornea/ &iffar

c) Choroid/ ®Rigs

d) Retina/ Xfear

Each eyeball is surrounded by three layers. The outermost protective layer is the sclera. The middle one is known as
choroid. The innermost layer is the retina. It contains light-sensitive photopigments.

TS e dI9 WRal & foRT gar 21 Ted 918 e R Jdued &l 9 a7 B SRITS & ¥ T SIHT ST &1 SeRdd W 31 B
T U1 & e Jaeefiar weftmie enfire &

53. Which of these structures hold the lens in place?// S8 I I T TG @ BT STE W W@ 87
a) Cartilage/ 3urf

b) Tendons/ ¢&~

c) Ligaments/ @rgse

d) junctions/ SfeT

The lens present in the eye is a transparent crystalline structure through which light passes before it falls on the retina.
The lens is held in place by the ligaments which are attached to the ciliary body.

3TRT W HiSE i Us UReT fhecily TRemr & foad ey & uater e R R & ugel oRal | i &Y JTgSe gRT SN § RaT ST
2 St RAfRard) a1 & o1 81t &1

54. Which of these is surrounded by the iris?/ 3. 378 I S aRaTReT ¥ feRT 872
a) Cornea/ Sif<ar

b) Sclera/ THeRT

c) Pupil/ gftre

d) Lens/ @&

The iris is a continuation of the ciliary body. It is a part of the choroid. The pupil, which is the aperture located just in
front of the transparent lens, is surrounded by the pigmented and opaque iris.

STERT FAfSRY ST T T AT 81 U8 FRIS &1 U fewr 81 i, St ureeff oa & die arme g fog 8, fmmies ofk sraresff
TfvarfesT & forT g 1

55. Which of these cells are not present on the retina?/ 4. ST% ¥ B9 T SIRABIT AT W HiE T&1 87
a) Mast cells/ T FHIfABT

b) Photoreceptor cells/ WIEIREAER HIfASIT

c) Ganglion cells/ fiffaa STy
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d) Bipolar cells/ fggdT Fifresm

The retina is the innermost layer surrounding the eye. It contains three types of neural cells-the ganglion cells, the bipolar
cells and the photoreceptor cells. The light entering the eye falls on the retina.

kA & STHUTH 1 AT T Wall R elell 81 587 fI UbR bl AST PIASIY 8- AUl HfADIY, gt HifAenry 3k wreifdex
PIHABPI| 31T T U A ATAT TTT ST W U= &l

56. The most common use of ‘silicone hydrogels’ is making of which among the following/ fAfdi&T gregole ST T 3TH
Iy fafafad # & feder s 82

a) Surgery Equipments/ Rt & 3GaUT

)
) Contact Lenses/ ®i<cae o
)
)

=2

d
d

Liver Transplants/ Tgd GIRIquT
Capsules of medicines/ garsit & Sy

57 .Which among the following diseases is also known as "Pink Eye"?/ fafafdd & & foa Sard &1 "Ue arg" & wma & ff S
STTaT 872
a) Conjunctivitis/ FaTftharsies

b) Myopia/ F&e gfe A
c) Astigmatism/ gfeedwwr
d) Presbyopia/ Sesmaifaar

58.Which among the following makes the Cornea Transplantation easy and used more widely ? / fRufafad & &9 a1
HIFIT TARIIUT SR 14T € 3R SATUS SoTe $0 & IUTNT BT SiTar 872
Cornea are easily available/ Siffar s & Iu@sy §

a)
) Cornea does not link up with blood vessels/ Sif¥ar & arfgarsit & arer foie T8 var &
)
)

=2

both of the above reasons/ IWRIxhH &l HRUT
none of the above/ g8 T &g HI I81

d
d

59.Which among the following live tissues of the Human Eye does not have blood vessels? / A 97 & fRgfaRaa Shifaa
st # A e w0 arfeery & gt 87
a) Sclera/ fduea

b) Cornea/ &if{ar
c) Choroid/ I{aa
d) Iris/aTiRamier

Q60. Which of the following is known as the camera of eye?/ FufafRea & & f&5 31ia &7 ST H&T J1aT 87

a) Cornea

b) Iris

c) Pupil

d) Ciliary muscles

61. The human eye can focus objects at different distances by adjusting the focal length of the eye-lens. This is due to:
T 31\, T57-0 H Biod @618 S TS ¥ afie g R axgsit 31 $od = Tadt §1 30HT FROT &

(a) presbyopia /SRTgf& arw

(b) Accommodation /T

(c) Near-sightedness/fA@egfeay
(d) Far-sightedness /ggQgieay
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62.The defect of vision which cannot be corrected by using spectacles is:
T BT IUTNT ISP I BT QN oy Siep 181 BT oI FepaT &:

(a) Myopia / fAse gfe dlw

(b) Presbyopia /SRT gfte Iy

(c) Cataract /Mfaarfde

(d) Hypermetropia /dieigfe

63.A person cannot see the distant objects clearly (though he can see the nearby objects clearly). He is suffering from the
defect of vision called :

e cfeh ¥ Y TEg3i Y Te ¥T F TEY 3@ THhdT & (BT I8 U Y aiq3il B Tee ¥U F 37 ThaT B) | 98 e Y & FRoT Rz B
(a) Cataract /mifazrfae

(b) hypermetropia /&gt

(c) Myopia /e gfe T

(d) presbyopia /SRT gfe aIw

64.Though a woman can see the distant objects clearly, she cannot see the nearby objects clearly. She is suffering from
the defect of vision called :

T T AR ¥ H agell B W FU A 9 Tad! ], 98 UTT 6 axgail & We FU J 7€ 37 THdT 81 9% gie v F Dida &

(a) long-sight /aie FHT ¥ 7o)

(b) short-sight /fe gfe

(c) hind-sight/ fée-gfe

(d) Mid-sight / wreg IR

65.A young man has to hold a book at arm's length to be able to read it clearly. The defect of vision is :
TS Gad B 918 I AGTE W T [Sd1e UssHT gNft d1fds 98 30 We ¥U J Ug TS| gR ST v &:

(a) Astigmatism /gfedw=r

(b) Myopia /e gfee Gy

(c) Presbyopia /SRT gfte aw

(d) Hypermetropia /didigfe

66.After testing the eyes of a child, the optician has prescribed the following lenses for his spectacles:
TS g1 & iG] T IR HW & q1¢, S eefAaT ¥ IT& 920 & fav Rufafea o Fuifa fee

Left Eye: + 2.00 D Right Eye: +2.25 D

The child is suffering from the defect of vision called:

T G €I PEerdr &

a) Short-sightedness /3rgzaf2fdr

b) Long-sightedness /g &t &1

c) Cataract /mifaanfae

d) Presbyopia /SRT gfee &y

67.A person got his eyes tested. The optician’s prescription for the spectacles reads:
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U ofeh ¥ 30T AT o7 UVEIUT FRaTar| I & faiw iiftefras &1 IRt ugar &:
Left Eye: -3.00D Right Eye : - 3.50 D

The person is having a defect of vision called

Sfeh &1 3R <y e oiraT &

a) Presbyopia /SRT gfee aw

b) Myopia /fee gt Ty

c) Astigmatism /gfeedw=

d) Hypermetropia /&g

68.The defect of vision in which the eye-lens of a person gets progressively cloudy resulting in blurred vision is called:
3R o7 S o foeft safes Y a1iat & o § IeRIR aTae BT o &, o TRUTHRIRT et gt &Y avet o 2

a) Myopia /f&e gfe iy

b) Presbyopia /SRT gfe dy

c) Colourblindness /gurferar

d) Cataract /Mfaarfde

69.The defect of vision in which the eye-lens of a person gets progressively cloudy resulting in blurred vision is called :
3R o7 g o feft safes Y a1t & o § IeRIR a1ae BT o &, oy TRUTHRART et gt &Y avet o 2

a) Myopia /f&e g aly

b) Presbyopia /SRT gfe dy

c) Colourblindness /gurferar

d) Cataract /afaanfse

70.A person finds difficulty in seeing nearby objects clearly. His vision can be corrected by using spectacles containing:
Teh o feh & UTH &Y a3 T T T I & # HSATS Blell 81 I7eh! 3R Yeb T T ITUNT I e BT ST Wepell &:

a) Converging lenses /3TOATRT @

b) Diverging lenses / JTHTRA @&

c) Prismatic lenses /fOsHtg aa

d) Chromatic lenses /@1ifes o

71.Myopia is the same as

AT Ty -

a) Near sightedness / fiwe gfe giw
b) Astigmatism / gfedw=r

c) Presbyopia / SRT gfee alw

d) Long sightedness / @ gfRars

72.Short-sight in human eye can be corrected by using proper
Mg S 31Ta &1 e gfee ot S a1 517 wehar &

a) Convex lens / Ildl & ST YT Hb

b) Concave lens / 3ddd o HT TUNT dRab

c) Cylindrical lens / fcifgeret @ &7 Tl &

d) Bifocal lens / fBISH! @ ST TONT IS
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73.Lens is made up of

T o ST 87

a) Pyrex glass / Ursied &

b) Flint glass / fOwie S

c) Ordinary glass / HTERU &I
d) Cobalt glass / BIeTec B

74. The human eye forms the Image of an object at its......?
T &1 3TRa st avg I B ... RaATdr &2
a) Cornea/®if=ar
b)  Iris/3mafE
) Pupil/gaei
d) Retina/XfeaT

N

75.The change in focal length of an eye lens is caused by the action of the?

G W BT Pl @618 § TR [haehT ThaT & SRUT G187

a) Iris/ameRa
b) Pupil/ gaeit
c) Ciliary muscles/ffasr araafamt

)
d) Retina/Xfear

76. How many muscles are used to control the eyeball?/ Fiieie ST Tfad 1 & e fa=t ArT0fIaT o1 ITTHT T ST 87

(a) Five /5
(b) Four /4
(c) Six/6
(d) Seven /7
Extrinsic Eye Muscles
Superior Superior Frontal Levator palpebrae — S:Ielze‘ai:r ls_ﬁ;:(’?;';i)salpebrae

rectus oblique bone superioris
oy

ey

Superior
:; oblique

—— Trochlea

N (Iigangenteus
'\3\ sling)
Y

N f

z "\
/ A\

nterior e ’ ‘LA>

rectus  Maxilla W
Inferior oblique
(a) Lateral surface, right eye (b) Medial surface, right eye

rectus ; 7

Seieieieadens L inferior

Medial rectus rectus

* a. superior rectus b. inferior rectus c¢. Medial rectus
d. lateral rectus . inferior oblique f. superior oblique

» Actions- eye movements; CN innervations- 1, 1V, & VI
~ look up; ~ look down
___look medially; ~look laterally
___look down and laterally; _look up and laterally

77. Which of the following is NOT a part of the human eye?/ FafafRad & & S Ag 1@ &1 awT &l 87
(a) Iris/ gt
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(c) Cornea/ sifar
(b) Ciliary muscles/ fafereid wiwafat
(d) Cochlea/ Futfacd

8. helps the eye to adjust the focal length of the lens./ ......... T BT A BT Blod @aTs B THRoId S | FEE T 8
(a) Retina / XfeT

(b) Lens/ &i&

(c) Entire eye ball/ dquf S=imiais

(d) Ciliary body/ faferaidt ist

Lacrimal gland

d

Sclera
Upper eyelid

Fornix Choroid

Limbus Retina

Comnea
Vitreous humour

Pupil

Iris

Optic nerve
Aqueous
humour

Lower eyelid
Third eyelid

Ciliary body

79. In which part of body is cornea and retina found?
Fiffar ok gt gea ek & vt st # arar Srar 87

(a) Ear / &=

(b) Eye / ==

(c) Palm / umH

(d) Nose / A1

80. The aperture controlling the light entering in the eye is called:/ 3@ & U321 T AT UHTT BT U B AT TG FEATAT
&

(a) Blind point / sTgs Tige

(b) Iris / 3mERT

(c) Pupil / gaet

(d) Sclerotic Layer / TRRifed W

81.Rod and cone are found:
TATHT 3R 21 TTw AT &:
(a) Heart / g

(b) Lungs / %3

(c) Eye /==

(d) Nose / A1

82. Which cells present in the retina are sensitive to normal and bright light and give colour sensation?
e & Hige 19 W SIS I 3R a9 Ao & ufe Tdeefier @Y § ofk @ wdear &t €2

(a) Bright cells / Iad SIfASTT

(b) Rods or rod-shaped cells / TATHT TT P F HR I SIASTT

(c) Cones and cone-shaped cells / i 3R &g & MHR S NS

(d) Blind cells / 3t HIfAHTT
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Photoreceptor cell

Cone cel|\ Rod cell
\

83. The organ of Corti is concerned with:
(a) Hearing / g8

(b) Lactic / @fdes

(c) Seeing / &

(d) Balancing / Jdeid

84. Auditory' sense refers to:
U7 &Y WTGHT T 37 ¢

(a) Hearing / g8

(d) Taste / TW1g

(c) Smell / 7igr

(d) Vision / gfte

85. What is another name for eardrum?
SIS T IR 19 FT 87

(a) Pinna / fo=r

(b) Eustachian Tube / g =&

(c) Tympanic membrane / eifie e
(d) Cochlea / Srairar

Elastic cartilages

Auditory ossicles

Semicircular canals

~__—Vestbulocochlear nerve

Cochlea

Auditory tube
Oval window

Tympanic cavity

External acoustic meatus  Tympanic membrane

86. Which part of the ear turns sound vibrations electrical signals?
FH FT B AT R @fy o fagga At Y acT a1 872

(a) Cochlea / ®Iawitar

(b) Tympanic membrane / e fae fSreett

(c) Auditory canal / /@uT I8}

(d) Pinna / fo=r
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87. Which part of the human ear vibrate according to the sound received?
T B BT P T YT T & & IR HUT IRAT 87

(a) Hammer / gter

(b) Pinna / fo=r

(c) Auditory nerve / sigur dfaeT

(d) Tympanic membrane / SeRIfAe fEiewit

88. With which of the following is the 'Olfactory' related?

ot fRfafae & & e defaa 27

(a) Hear / g=-1

(b) See / &

(c) Feel / wegd

(d) Smell / Ter

12 Cranial Nerves

olfactory optic
smell vision
oculomotor trochlear
eye movement and eye movement
pupil reflex
trigeminal
face sensation and abducens
chewing eye movement
facial vestibulocochlear
face movement hearing and balance
and taste
glossopharyngeal vagus

throat sensation, taste, movement, sensation,

a allowir
and swallowing and abdominal organs

A —
accessory J hypoglossal

neck movement movement, sensation,
and abdominal organs

89. Name the structure of the eye that acts to refract light rays and focus on the retina?

371G T I AT BT A0 FATST Sif TH1RT FER0TT Y Juaferd i 3R AT W e g o &7 1 el 87
(a) Cornea / sifar

(b) Pupil / gaet

(c) Lens / &

(d) Iris /af¥arfaeT

90. The function of the lens in our eyes is to-

A 3l § @ T o 8-

(a) Cover the eyes / 3TRal & Gl

(b) Send message of images to the brain. / ARA< &I wfagl &7 daeT 91|
(c) Change the focal distance of the eye. / 3Ra &I BIFd g g&d |

(d) Protects eyes from injury / 3TRal & dle & gamaT &

92. The area of the retina where the vision is highest is-
YT 37 a7 87 et g W e elt 2-

(a) Vitreous body /&=T1T @

(b) Blind spot / 3fg fdg

(c) Fovea / wifaar
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(d) Choroid / 75 Ucael

Anterior chamber Cornea
(aqueous humour)
Posterior chamber

Retinal
blood
vessels

93. Which of the following is true?

fefafed § @ o ar a2

(a) The image formed on the retina is inverted. / ft¢ Ted W ¥ araT Ufafera Ieer gHT 21

(b) The image formed on the retina is twice the original image. / gf¥¢ Ued R & arei B3 go B3 ¥ AT 81

(c) The shape of the image formed on the retina is similar to the object. / &ft¢ Ued R a9 a1t Ufafes 6T 3Pl a3g & THH
gt 81

(d) The reflection formed on the retina is a semicircle. / gf Ted W §97 aTAT WIadH T 314ad 2|
: Image formed by Retina

The image formed on the retina is inverted, but your
brain interprets the image as being right side up.

94. The brain is also the coordinating center of the body:
RIS RR & Ty &g ot §:

(a) Main / g0

(b) Vestigial / aRefoae

(c) Secondary / ATenfie

(d) Optional / d&fous
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95. Which of these is associated with colour vision?
=T A P T g @ Wi &7

(a) Optic disc / Jiftes &

(b) Rods / ettt

(c) Cones / 2%

(d) Iris / aRaTfeeT

96. On which of the following principle does the human eye work?
Mg i Fafafad & 3 e R w $rf et 82

(a) Scattering of light / U121 &7 UehTofT

(b) Dispersion of light / TeTeT &T thara

(c) Refraction of light / UT2T &T 3Ta@a—

(d) Reflection of light / weTeT T Ufafds

97. tissue is made up of neurons, which receive and transmit impulses.

___________ FdS IRT A §9 21 &, S 3mant & ured 3R d=iia &= 2
(a) Epithelial / 3gsar
(b) Connective / TTTSit
(c) Nervous / d@faar

(d) Muscular / aeft

= 2

98. What is called feature of adaptation of human eyes to see near and distant objects?
e 3R R & axgaeil & a7 & v T 1iEt & s/ & AT a1 HEar 872

(a) Myopia / f&e gfe

(b) Accommodation / 3rdr™T
(c) Veteren / 9

(d) Reform / gar

99. The aperature are controlling the light entering in the eye is called:
37T H YT T AT UHTLT BT AT I a1t TR FEeATd &

(a) Blind point / sfer fdg

(b) Iris / aRaTfeaT

(d) Sclerotic Layer / Sducet WRe

(c) Pupil /gaett

100. Least distance of distinct vision for normal eye is
I 3 & e T gfte &Y aw gft &

(a) 15cm

(b) 20 cm
(c
(

) 25 cm
d) 30 cm

e T ITET T &,
(a) Nose / <t

(b) Fingers / 3iferai

(c) Ear / &

(d) Eye / =
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Which one of the following statement is correct about vestibulocochlear nerve?
IRegPIFam dfAdr & aR ¥ Rufafad 8§ § o a1 Fa7 Td 272

(a) It connects ears to eyes/ Wg ! FI RGN ¥ SATSdT &

(b) It connects ears to brain/ Tg &I & ARAS A SHgarT &

(c) It connects ears to mouth/ Tg HH &Y 4g T Siedr &

(d) It connects ear to nose/ Tg & &I A1 A Sigar &

The Vestibulocochlear Nerves - VIli

Vestibular Vestibular nerve

Semicircular ganglia

Internal acoustic
meatus

Cochlear nerve

h p (containing
N spiral ganglion)

Vestibulocochlear nerve (VIII)

Vibrations inside the car is amplified by three bones, namly the ________ in the middle ear.
FR & IR S 4 B3, sufqmer e A ________ GRT vafefd faar Smar 2|

(a) Hammer, Cochlea and Stirrup / 2isT, iawitar 3k Rexa

(b) Auditory Bone, Anvil and Stirrup / %i@ur g1, feTs 3k Rexa

(c) Hammer, Anvil and Stirrup / g2iteT, fETE 3k Rexu

(d) Hammer, Anvil and Pinna / g2itsT, e 3k =

Middle ear
1

Temporalbone |4 0, Incus Stapes!

(hammer) (anvil) (stirrup)

Inner ear
I

Semicircular Cochlea :

Vestibular nerve
t..__— Cochlear nerve

Round window

Eustachian

Internal
carotid
artery

Tympanic

membrane Styloid bone .

(ear drum) Opening to
nasopharynx
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